K=
—
ﬂ_
S

.. _| D
de

| ." D
|
s
T
=
(¥ 2]




F) 7 2022 4E5F 115-5

SYHJ/CX—D—35 (02)




=3 (R F 205t

s = AA AL T~

T i A2 SE S |
e IO T W UK oo
A H | A ' =

/s At () (kl*a) | | |
T — R o ! : | E :
10:00 S l.e | 2.2 102. 1 7 ' 8
3 hY

I = ; & ‘
‘ 2022920607 "1 S O 14

3.0 | 1020 8
12:00 S 1.6 3.0 | 102.0 | 7

| A ERHLIR SN S RF

| e ‘ | o ‘ | l AEENZE R | |
‘ A Ty ‘ RO ‘ Bl s Ao "

L ; — Y dobe —= I,
-k IR =R

r N E: 0. 44 0, 50 0. 4







=75 (F) 7 2022 4E55 115-5 =
\ SYHj/LA—U—3s0 (ua)

/ ne

7R = 2 FR IR A A PR !

W
Ry V1] 3 A

- z »
'L‘ - E*"‘"

B e~ 14K S Mg/ T

8 5 IR IS (mg/m3







